P.M.B. Gujarati Commerce College, Indore

B.Com. Final Year (Tax Procedure)internal — | (Group-A Tax)

Major -1 Income Tax Law and Practice

1. Exempted income of an assessee will be included in the head :

(a) Profits of Business and Profession (b) Capital Gains

(c) Income from Other Sources (d) Not in any head

T PREIT DI HR—Gad AT |fferd srfl —

(31) ‘T Ud uY & o e H @) Yl o™ e |

() ‘g A ¥ Iy’ ofiNe # (') fsr Y o # =121

2. Under which section of Income Act, 1961 exempted incomes have beenmentioned?
(a) Section 10 (b) Section 88 (c) Section 80 (d) None of these
MR AT, 1961 BT g WINT 3 (IHR | aa AT BT Ioord fhar a7 8 2
(31) &=T 10 (§) 9T 88 (d) &_T 80 (]) o7 & BiIg 21
3. Share of partner in the income of partnership firm shall be:

(a) Taxable (b) Exempted (c) Fully exempted (d) Partially exempted
AEEN ®H B 3 H ATSIER BT ART BRIT —

@) B (@) PR (%) goferar er—gad (<) eniferd PR—Fad

4. An award of Rs. 25,000/- was announced for tracing a missing dog. Mr. C traced the dog and received
the award amount. Such receipt shall be :
(a) Fully taxable (b) Fully exempt (c) Casual income  (d) None of these

QY gY Bl Bl §@ W . 25,000/ — T RERRET fhar mar| ke &« 99 @i foram iR

REGHR B AR 91 ot | QA o e —
(@NYofaar ax—amg (@) QUiaar H—Had (4) THRAdH I ((€) T7H | Bl 71el

5. The daily allowance received by a member of Parliament is :

(a) Exempt (b) To be included in total income for tax purpose (c) Taxable (d) None of these
GG AGRI B YIS Bl aTell el Bicl & —

(37) PR—HerT @) PR P Iqa A A A H SIS S ATl A1
@) ex—arg (@) 3T 9 PR A




Major — 1IGood& Services Tax & Custom dutyd&] Ud Hdr&R dl HHATYD

1 InIndia implemented: YRA ¥ &N far a7 & —
Single GST (b) Dual GST (c) VAT and Services Tax (d) National GST
(@) Tt STl (@) aI8%T Sliged]l (W) 9€ Ud WaTaR () WA SHewe

2 Types of GST in India are:TRT H SNTAST & UHR & —
(a) Central GST (b) State GST (c) Integrated GST  (d) All of above
(@) B Shgae! () I ShgseT (¥) Timd SigEe!  (]) Sugad a4l

3 General rate of GST is dividing between CGST and SGST:

Dard SITACT Ud 19T SIQEC! § W &R Pl dleT Sl & —

(a) Intheratioof 2:1 (b) Equally (c) By Central Government (d) Equal among all states
() 2 : 1 @ U H(E@) TR — RER  (AF) s AWHR gRI ()9 TN H aRIER

4 Model law relating to GST India is: WRT ¥ SHUHST | ARG AlSd B & —
(a) Central GST Act (b) State GST Act (c) Integrated GST Act (d) All of above
(31) =g SIUAST Tae  (9) 1 SIUES] Tae () Udblgd SiuHe] Uae(S) Sudad |+l

5 GST imposed in India on: YRd H SIUAST &1l & —

(a) Supply of services (b) Sales within state (c) Interstate sales  (d) All of above
(37) amail @1 gfd wR (@) T & IR [l R (|) IITRIRTY [ R(3) I |l

Minor — lincome Tax for Business 31TI®X
1 Business or profession income includes- SITAR 37raT YT &1 T H IMAA B—

(a) Trading Income (b) Industry Income (c) Professional Income (d)all of above
(@) @UR & I (9) SERT DI 3T (F) UL DI A (@)U |+l
2 Allowed expenses from Income tax point of view-3TIdR HI gite Kl Wipd &aa -
(a) Insurance premium (b) Interest on loan  (¢) Commission (d) all of above
(a7) & A=A @) RO R @S (F) DERE (@)Sugad A
3 Disallowed expenses of business is -@TIRST 3RATHd FI &—
@N@mHaTRAT BT da= @R & 9a9 (\)AUR W@H BT dad (CISERESRE
(a) Workers salary (b) Managers salary (c)Proprietor for salary (d) all of above
4 Depreciation rate for Computer-$H*ex TR W g Bl & T —
(a) 20% (b) 30% (c) 40% (d) 50%

5  Reserve or provision is -F9ad T UG- &—

(a) Allowed expenses (b) Disallowed expenses (c)Partly Allowed (d) None of above
()T = (a) i =@ (@)Re Wea @@ T



P.M.B. Gujarati Commerce College, Indore
B.Com Final Year (Tax Procedure)internal — 1 (Group- B Marketing)

Major —1 Marketing Managementfaguorer gatr

1 For business, marketing is :&qard & forg fagoE 8 —

(a) Compulsory (b) Necessary (c) Unnecessary (d) Luxury

(31) arfyard @) 3mava® (|) IS GRESUSEL

2 Money spent on advertising in marketing is: U # fasmu" R ¥ fHar A1 99 7 —
(a) Wastage (b) Unnecessary expenditure (c) Burden on the customers (d) Investment

@) e (9) MDA (A) TP W ¥R () fafra

3 “Marketing concept is a philosophy of business.” This statement is of :

"faUTT STYROT SFaAR BT T B 1” AT BAT § —

(a) W.J.Stanton (b) Philip Kotler (c) John E. Wakefield (d) Arthur P.Felton

(3) S Ted () fBforg dleer (W) TMIgddhies (]) 3R Ylheed

4 - is important for marketing in Vedas :9al # fauors &1 ... % forg H%?BITI;UT AT § —
(a) Peace (b) Prosperity (c) Destruction (d) None of these
(3) wrifer (@) wats (%) fame () T & I =&

5 Recent trends in marketing in India includes: ¥R # fauo & grferan v+l # affafera 8 —
(a) Digital marketing(b) E — Commerce  (c) Social media (d) All of the above
@1 fesfiea AT (@) § — BF™ (@) arre s (]) Sudad a+

Major — lIManagement A/C

1 Management accounting is a - J&=IdHIT g1 fafey 8—

A. Branch of financial accounting B. Branch of cost accounting
C. Presentation of accounting information to assist the management D. Account of managerial work
3. faiy ol @1 ue o 9. AN ol BT U T

W U P Al & oY oGl GEAIsi BT URPRU &, YDA BRI Bl ol
2 The term Management Accounting was first used in- Yer@ I @AY e BT FaH Ul SUANT fHar 11—

A.1935 B. 1950 C. 1975 D. 2000

3  Management accounting related to- Ua=I@Td oRATAR &7 FF= &—

A.Financial Accounts B. Cost accounts C. Above "a" & "b" D. None of above

a1, facirT e 3. AT orEih W IWE 3 3R T T Sudad BIs AL

4 Nature of Management Accounting is- Va=ra SETafer a1 yapfa &—

A. Science B. Art C. Science and Art both D. Analytical function

. fasm 9. Bl BACEIERCICTIREE] 5. fazevoe® BRI

5 Management Accounting is adopted by- Ta=raTg eRaTfAfer 3OTE S 28—

A. Top management B. Middle management C. Lower management D. Owner of undertaking

3. 9T Ye  F. HegH Ue 9 9 ygr T Suhd & W g§RT



Minor -1 Human Resource Management (HRM)

1 The first concept on which human resource management was Envolved is:
Ugell RN T UR AIa W U BT fadbr o 8 I8 © —

(a) The goodwill concept (b) The commodity concept

(c) The humanitarian concept (d) The factor of production concept
(@1) Ty @7 JraERen (@) IUTE Bl AR

(|) AGAT BT IR () IUTE Bl JqLROT

2 Scope of H.R. M. is :#/Hd HHARM &T Y& & & —
(a) Administration (b) Remuneration (c) Industrial relations (d) All the above

(31) e @) uRsiA® () irenfire T (@) Swdaa W+

3 Managerial functions of H.R manager: #-d M #9oR & Yadd R 8 —

(a) Planning (b) Organization (c) Staffing (d) All the above
(a1) FraToT (@) wre (®) wIftb (@) SwdE |+

4 Includes in important aspects in work- force- diversity are:

Fridga— fafqudr & Aewyol uggsl # wfia § —

(a) Cost & Religion (b) Importance (c) Kinds (d) All the above
(a1) it iR e @) ' (@) PR (@) Sugad a4
5  Function of empowerment of H.R.M. Is: Aa |@®A Udgs @1 AfHTRAT &7 S 2 —

(a) Social work (b) Employees recruitment & selection (c) Personal work(d) None of these

@) WS B (@) HHAR 9 UG Wl () g s (Q) 3 | BIg T8



P.M.B. Gujarati Commerce College, Indore
B.Com Final Year (Tax Procedure)internal — 1 (Group- C Finance)

Major -1 Public Finance

1 Which of the following is not related to the historical background of public finance ?

ardwfe faw &1 Ve g qf 9 Hdfta sH—w SR T8l ?

A. Chronological ProgressionB. Political dynamics C.Economic development D. All of the above
3. AR HOT EANNEIIRCCICI GRS R |, onfdfe e T 9 SURIET

2 What is a characteristic of public goods ?®m&sI ™ a%qQ &I T faemyar aam 2 2

A. Shared use B. Individual ownership C. Basic of use D. All of the above
SIS 9. fdra wnfic AN BT AR EAREIISENER]

3 Which principle is crucial for maximizing social benefit in government actions ?
WRBR & BT H AHITEG ™ o ifedr & forw b a1 Rigla #gaget 2 ?

A. Trust principle B. Self-reliance principle ~ C.Benefit principle D. All of the above
31 faar Rrgia g SrfrRaT fagid |q. o™ fagid T, 9 SURIE?

4. What is the role of the government in a situation of market failure ?
IR HAT B R § TR @ Fa1 9fyar g 2

A. Production situation B. Distribution Situation  C. Consumer situation D. All of the above

F3areq Rfy 9. dugu Refy 4. ST Rafy g 9 SRIed

5  What is the role of public finance in economic development ?
e e # wrdwife fac @ a1 fier 2 2
SACRUD RS ELIE . e g HAMENSTS =1 T 91 SwRIa

A. Financial Research B. Investment certainty C.Social justice D. All of the above

Major — llAuditing

1. The audit of sole propritorship is - Y@@ MR # 3fdHeror —

(a) Compulsory (b) Advisable (c) Difficult (d) Unnecessary
@n)erfyart & @) wreftg ® (4) BfeT & () srTaeas &

2. Object of an audit is -3i®erT B I & —
(a) Record of transaction (b) Record of Account Books (¢) Detection of Frauds (d) All of these

(31) |l @ Tl AT (d) oET JRDI DI RI—IEG BRAT (F) HUSh DI gl @) 3 =+
3. Auditing is .....ccoeveenene. for a joint stock company -Hgad ¥hY TS & ol fHefor & —
(a) Compulsory  (b) Optional (c) Not necessary  (d) On desire of Board of Directors



(@n)arferar ©RNEZD (@) eMaegd T8 ((§) FaTdd AvSH B ST W

4. Accountancy is ........ccceeeeereeennns for each organisation -Ui®% TGRS 6 & ol of@id 2.
(a) Luxury (b) Necessity (c) Compulsory (d) Reputed
(a7) feremaam CIREIERENI| SEEIREIREI (=) ufi=roTe
5. Auditing start where ............... isend -519 .o FAT BT & 9, 3fDeToT YR BT B —
(a) Stock valuation (b) Sales (c) Accountancy (d) Business
(31) TP B @) fasa (@) g (GEENR

Minor — IFinancial Managementfdwiia gder

1 Financeisthe .......... of the body of a business:
I @ Taarg AHe IR BT ... AT ST 2
(a) Back (b) Blood (c) Limb (d) None of these
(@) 9 (@) xad (@) sfm () ¥ & P e

2 Finanancial management is: fawi Uaer g —
(a) Science (b) Art (c) Science & Art (d) None of these
(@1 fasm @) wer (@) ®en T fasm= &) s ¥ BIS &

3. Characteristics of financial management -fd&i w&er &1 fagyar 28—

(a) Continuous administrative functions (b) Different form accounting Functions
(c) Centralisation of finance functions (d) All of above
(@) waq yemEG B @) orEred s | e
(@I BRI BT HEIRIBRT @)Swa =+

4  Financial decisions are -facig faofg gla 2—

(a) Investment decisions (b) Financial decisions
(c) Dividend decisions (d) All of above
@nfaferar faofa @) foa—gfd fota GIGICINEEND] @) Swa =+

5  The types of financial decisions are -0 vl & UHR BId 8~

(a) Two (b) Three (c) Four (d) None of the above
(@) @ @ &= SN (2) STFat & & B T



PMB GUJARATI COMMERCE COLLEGE, INDORE
B.Com lll Year (Tax Procedure) Internal — |

Elective 1- International Business

What is the primary reason for companies to engage in International business ?

A. Local market dominance B. Cost reduction and Profit maximization
C. Cultural isolation D. Government regulations.

RIS AR H M B BT G BRI AT © 2

(@) W IR gRyed (@) SIRTT S T AT AP

(1) wiwepfae Ry (S1) AR faf e

Why is cultural awareness important in International Business.

IR AR H ARGIAS SATwHEHAT R Agdqul & ?

A. To promote language proficiency B. To avoid international partnerships

C. To navigate diverse business environment successfullyD. To encourage cultural isolation

(Q) AT SO B gerar <A (@) iRl wEeRal | 929 & forg
() fafqer =R qafeRer § AHAAIgdd AfdRe FA & forg (S AiR@ie 0 BT gerar
Which of the following is the benefit of International trade ?fF=IfaiRad # | JIRIET ATIR & o F7 8 2

A. Limited market opportunities B. Reduce economic dependency
C. Increased competition D. Higher unemployment rates
@) AT IR @ 3R (@) anfefe fiRar # &+
() g ufereerf (@) Jea W ¥

What role does international business play in economic growth ?

amfdfer famra o SfaRis &R & Fa1 fAdT & ?

A. To stop economic growth B. No impact on economic growth
C. Acts as a catalyst for economic growth D. Promotes cultural homogeneity
@ onfdfe faerT Br HT (@) onfdie famr IR BIs gWa T8l

(3) amfiep faerer @ fory Ue deforve @1 i @) aRpioe g o1 geaed

In the context of International business FDI stands for ?23d %ibﬁ\lq IR § FDI &1 @1 aref g 7

A. Foreign Domestic investment B. Fully developed industries

C. Foreign direct investment D. Free Duty imports

(@) freeh =R Frerer @) o0 oE W Rl sa
(&) faceh e faw SR RER DI

Elective 2 - Business Ethics

What is the foundation of ethical decision-making?ﬁﬁﬁi Ao o fr 3maRRer F=ar g?
2T GHE b, WiERIH AR c. Afdw B d. g fafgs

a. Personal preferences b. Cultural norms c.Moral principles d. Legal regulations




Q1

Q.2

Which of the following is a characteristic of ethical behavior?aifaes cgdgi¥ Fr iaTdr FAYAr %}-?
a. TATYIRAT b. ENETIST c. 3 @3T d.AgHTa

a. Selfishness b. Deception c. Integrity d. Discrimination

Why is ethical behavior important in the workplace?a?l?flT?JFl' 7 Afas GRIES Far ﬂ%ﬁ'ﬂ?ﬁ' %'?
a. TG haol el I Telel FIATRIT FAT gb. g TaRag 3N FTISST AT @ &
c. I HATS HI AT 8 AT W AfUFAA FAT §d.Tg T&TIT &I WcAlfed Tl &

a.lt ensures compliance with laws only b.It builds trust and credibility

c. It maximizes profits at any cost d.It encourages favoritism

What is the role of empathy in ethical behavior?afaes 2ERIES p= Wﬁﬁqﬁ CARCTI) SH@EFF %}?

a. QH T HATGATIHT I FSIBIGTST FEAT b GEU I AT B FASEAT 3R 3T /1Y A1

c. QAN T HIGAT3T &I Hgelr d. gERT dr TAT A IGRAAAT ¥ Gl
a.lgnoring others' feelings b. Understanding and sharing others' feelings
c. Manipulating others' feelings d.Disregarding others' opinions

How does a manager demonstrate ethical behavior in decision-making?

AR aifder AU ot 7 F0 Afas sgagr fG@rr &2

2. $8 HAAMRIT T AT & I VIHFT Felra]

b. el SATFAT THal W IR AU &t & g@nr

c. 3 TR & fgal ox aRoma & ST s AR Afdes Rgwidl &1 areler w1
d. EY ket & TIT i for & s

a. By favoring certain employees over others

b. By making decisions based solely on personal preferences
c. By considering the impact on all stakeholders and adhering to moral principles
d. By avoiding tough decisions to prevent conflict

Elective 3 - Project Planning

The probability of completing the project can be estimated based upon the .
ARAISTAT & QT Gl I HHTGAT T AT __ & MUR TR AT ST Hehell g

[A] Uniform distribution curve [B] Normal distribution curve
[C] U-shaped distribution curve [D] None of the above

[T AT [daRor [a% [EHAT fdaor | |
[@3TRR &7 fIROT ash-7 | [E3RFT & T FS T |

In the initial stage of the project the probability of completing the projectis _ .

RIS & IRAF TOT A IR &F Q@ g T FHEGAT _F

[A] Zero [B] High [C] Low [D] Any of the above
[T [ [z | GIET | [EE3wRIad & ¥ &S o [



Q.3 The entire process of a project may be considered to be made up on number of sub process placed in different
stage called thefhdY RIS &I q‘\ﬁ' TfshaT I TITITRAT3T FT TEIAT -37e19T RO H WY IS 39-
9 MR AT AT el &
[A] Technical key resources [B] Work key structure
[C] Work Breakdown Structure (WBS). [D] None of the above
[T GETETdheA TR T | [(freprd ot e [
[ T SHs3ad FgF (Seegdivy) EE3WRIFd H & A o6r [

Q.4 Tool used for comparison of the proposed project to complete projects of a similar nature whose costs are
known HHTT Yehfd T IRAISTAIT AT R Fe & AT FEAIfad IRASEAT ' Jefell & fow oo
T 39T foRaT ST &, [T amera At g gl
[A] Algorithmic model [B] Expert judgment [C] Top down [D] Analogy
[CTeMRYUA Alse [ [§fadva Avkr | AFWR & & [ B |

Q.5 Each component of the software product is separately estimated and the results aggregated to produce an
estimate for the overall job HIFCIIN 3cUIG & Tcdeh ©Ceh T oM@V AT AT AT g 3K -
A fohar STaT B 1EHT H1d & AT U oA TR & & foav gRomAr @ T
[A] Algorithmic model [B] Expert judgment [C] Bottom-up [D] Top down
[CUeMRYs Alger [ [Sifadwsr Aok | e & 3| [ EIFW b D |

Elective 4 - Indian Economy

1. India’s economic planning cannot be said to be: HRA &1 31 J® AT Ig 81 del off Al

a. Indicative b. Imperative c. Limited d. Democratic.
3 D 9. 3rfard |, i T AMBiD |

2. Economic Survey is published by:3Tfef® detor fdad gRT Wap1fIrd favar Siar &

a. Ministry of finance b. Planning commission

c. Govt. of India d. Indian statistical institute
3. faq w=Ter™ q. o AT
. R DR T RA HIRDHT Hwa

3. Which one is an example of passive investment instrument?ffSma I3 AT BT SSTERVT Bl AT 87
a. Gold ETFs b. Mutual funds c. Stocks d. Preference shares
3 TMee ICIUH 9. g3l e 9. IR T. q@ifeR 379

Persistent fall in the general price level of goods and services is known as:a%&ail 3R HamwRll &
AT oI WR H AR fRMe HEdrdl & o

a. Deflation b. Disinflation c. Stagflation d. Depression

3 GITUBIfCT g. fawnifa 9. ERWBIfaSfrg Hel ARSI

Who is the chairman of planning commission in India: HXd H IS TN BT 37eeT DA &
a. President b. Vice president c. Prime Minister d. Finance Minister
a1, gy 9. SY-—ITegUfd . 9™ w3 <. foq #=0



Q,1

Q,3

Q.5

Elective 5 - Investment Management

Which of the following is a benefit of proper investment 731 faer & ol § | e fEfeRad 8
A. Based income B. Wealth growth C. Profit at a fixed time D. All of the above

@) menRa s (@) g9 &I gfg (@) FuiRa 999 )R oM (1) SWRiad G4

What is the difference between investment and gambling ofraer ek of3T @ 99 T FAR T ?

A. Stability B. Risk C. Objectives D. All of the above

(v) Reman @) Reep ) S (@) W SR
What is causing changes in the investment pattern in India ?HIRT # faer Yed # gRads &1 dRu—
A. Government policiesB. Economic conditions C. Technological advancements D. All of the above

@) ARPRI ifcr (4 i Rerfar (1) Tepeirept Ifc (S SuRIFT |+
Based on the type of investment, who are micro-investors ?

99 & UBR & IR W JeA 99 9 Bd 7 ?

A. Foreign investors ~ B. Large investors C. Small investors D. All of the above

@) o= e (@) s Faus GORIABENED ) a1 SIRIaa
Which is a critical element of risk in investment ?

e # Rewt & ara® a@ § 9 @1 © ?

A. High profit B. Uncertainty C. Stability D. All of the above

@) STa o™ @) srffaaar (&) Rerar @) I SURTad

Elective 6 - Project Management

Q-1 3NTaRe T & BAST Y 75 ISATCHS TIAT & ATETH T TISATcHS AP Sl FATHET ST

Q-3

g?
1) dAfas &N TIad o T 3 T
What is the term for organizational development through a formally designed organizational structure?
A) Organic B) Mechanistic C) Formal D) Structured
USteT T dlehdiae IR Faael Afcat Fr fORIvar arelr TeredTcas TT=3iT &r aull Ha har
ST TRl &2
T) YeTeIshiAd cIGIEZSURE] ) wole ) FRATHS
How can organizational structures that are characterized by democratic and inclusive styles of
management be described?

A) Hierarchical B) Bureaucratic C) Flat D) Functional
faRIwarar foFa TetasTcras Ta=TT $r T AR §?

T) Afeaq &) gsmef ) sg-fasmha Ell FTATCHS (
Specialization is a feature of which organizational structure?
A) Matrix B) Divisional C) Multi-divisional D) Functional

10



Q-4

Teh FHI HARC 36IA & HIaX T TOIA IQdIdS Shl5 & ol FIT A § Sl ogadd &

T AT F 37T §?

©) fRaETaeh ) weifas ey oY) wEfas Tesyua 3)) WEfds saIR sHsWhat

is the term for an autonomous business entity within an overall corporate enterprise which is set apart from

other areas of the business?

A) Subsidiary B) Strategic partnership  C) Strategic alliance D) Strategic business unit

Q-58SATCHS EITAT &l 36627 FIT 8T g7

U1

U2

U3

U4

U5

1) 3R GARET T THeAT AT ) TR I dEAr F FIEAT T F AU
) WRPR F 3iRe S =T M) AAR & IVFR F DART Feaw

purpose of an organizational structure?
coordinate people and resources B) To organize lines of communication

C) To formalize authority D) To limit workers' right

Vocational Tax Procedure - Personal Tax Planning

MR B gfie A waa g 28—

SRCIGICIIEDE g, RO IR BCTINE] T SUFdaHT
Allowed expenses from income tax point of view-

A. Insurance premium B. Interest on loan C.Commission D. All of above
ATIRBII R & 28—

A FHHARITDIAAT . HoRBIAAA F AUR WA B 9d9 T SUYFaaHl

Disallowed expenses of business is-

A. Workers salary B. Manager Salary C.Proprietor Salary D. All of above
TR BT HIARI A B AR GG T

3. CSHIORORSIF q. I &Y | UEDIDEce] | ISuGaaaH]
Allowed expenditure when computing business income -

A. Registration expenses of trade mark B. Tavelling expenses

C. Discount to customers D. All of above
JMIBRHETA DI UM Bl SIlcile—

I GEIHHA TR ¥ AN WX AR TR ERECEIRITCRE RIM

In Income Tax Depreciation is charged on-

A. Book value B. Cost price C. Market value  D. Written Down Value
HARI TR WIgHd 8™ Bl &R 5—

Allowed Depreciation rate on machinery is-

A. 5% B. 10% C. 15% D.20%

What is not a

11



